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Question Number : 1 Question Id : 36496351437 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which principle of development suggests that different body systems grows at different rates?
Options:

1. The cephalocaudal principle

2. The proximodistal principle

3. The principle of hierarchial integration

4. The principle of independence of systems

Question Number : 1 Question Id : 36496351437 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 36496351438 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Physical development of children -

Options :

1. consists of only quantitative changes.

2. consists of only qualitative changes.

3. can be accurately predicted by comparisons with developmental milestones.

4. occurs in an orderly and sequential manner but rates of development of individual children

vary.

Question Number : 2 Question Id : 36496351438 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 36496351439 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Developmental changes -

Options :

1. are highly unpredictable.

2. occur very fast till middle childhood then reach a plateau and stop.
3. occur at varying rates in individuals.

4. are independent of the socio-cultural context.

Question Number : 3 Question Id : 36496351439 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496351440 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Apart from academic concepts children learn a lot of skills as well as values and
beliefs in schools.
Reason (R): Schools are a secondary but important agency of socialization of children.

Choose the correct option.



Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 4 Question Id : 36496351440 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496351441 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When a young child sees a camel for the first time she calls it ‘lumpy horse'. In Piagetian theory

this is an example of -
Options :
1. conservation

2. centration



3. animism

4. assimilation

Question Number : 5 Question Id : 36496351441 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 36496351442 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following pair is a correct pair of Piagetian stage and its characterstic

Options :

1. Stage- Formal operational; Characteristic-Hypo-thetico deductive reasoning
2. Stage- Sensori-motor; Characteristic- Symbolic thinking

3. Stage- Pre-operational; Characteristic- Conservation

4. Stage- Concrete operational; Characteristic- Abstract reasoning

Question Number : 6 Question Id : 36496351442 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496351443 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Lev Vygotsky's theory, physical items such as calculator, computer as well as intellectual

frameworks such as language are called -
Options :

1. figuration materials.

2. cultural tools.

3. concept maps.

4. memory aids.

Question Number : 7 Question Id : 36496351443 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 36496351444 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a classroom based on principles of Piaget and Vygotsky what should be the characteristics of

the teacher?
(i) Molrility

(ii) Flexibility
(iii) Didactic

(iv) Transmitter of knowledge
Options :

1. (i) (ii)

2. (iii) (iv)

3. (ii) (iv)

4. (i) (ii) (iv)

Question Number : 8 Question Id : 36496351444 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496351445 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following characterizes a progressive classroom?
Options :

1. Material is meant only for display.

2. Seating arrangement is fixed.

3. Children are assessed at the end of the year through formal exams.

4. Teacher provides learning opportunities to children to enable conceptual understanding.

Question Number : 9 Question Id : 36496351445 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 36496351446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Moral reasoning is based on the understanding of ideal reciprocity - the Golden rule in which the
individuals wants to maintain the approval of others at which stage in Kohlberg's theory of moral

development?

Options :

1. Punishment and obedience orientation
2. Social contract orientation

3. Universal ethical principles

4. Good boy-good girl orientation

Question Number : 10 Question Id : 36496351446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496351447 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Howard Gardner-

Options :

1. proposed the idea of intelligence as a singular trait.

2. divided intelligence into two factors - ‘general’ and ‘specific'.

3. classified intellectual traits on three dimensions - operations, contents and products.

4. argued that several distinct types of intelligence exist.

Question Number : 11 Question Id : 36496351447 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496351448 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is reflected in the perception that girls will do well in languages but will perform

poorly in mathematics and science.
Options :

1. Gender equity

2. Gender equality

3. Gender identity

4. Gender stereotype

Question Number : 12 Question Id : 36496351448 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496351449 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a classroom with diverse learners from different languages and castes, it is important to -
Options :

1. understand that differences are deficits in children and these need to be immediately corrected.

2. understand that all children have a potential to learn and design activities to help them

progress at their own pace.

3. encourage all the children to adopt the same learning style so that everyone is at the same

pace.

4. encourage competition among the children to facilitate meaningful learning.

Question Number : 13 Question Id : 36496351449 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 36496351450 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Assessment of children -

Options:

1. should be undertaken only to provide evidence for evaluating individual students.
2. should serve the purpose of comparing children and levelling them accordingly.
3. should be done only at the end of the year through objective paper-pencil tests.

4. skills that the child possesses as well as here learning potential.

Question Number : 14 Question Id : 36496351450 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496351451 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about questioning in class is correct?
Options :

1. Primary purpose of asking questions by the teacher is to test the students.
2. Only teachers should ask questions in the class.

3. Questions based on knowledge and comprehension should be encouraged rather than analysis



and application.

4. Teachers should use questions in the class to create cognitive conflict to facilitate learning.

Question Number : 15 Question Id : 36496351451 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 36496351452 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following principle underlies the philosophy of Inclusive education?
Options :

1. Discrimination

2. Equity

3. Labelling

4. Stereotyping

Question Number : 16 Question Id : 36496351452 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 36496351453 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following affects an individual’s ability to move and maintain balance and posture?
Options :

1. Autism

2. Cerebral Palsy

3. Dyslexia

4. Speech Impairment

Question Number : 17 Question Id : 36496351453 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 36496351454 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to include students with specific learning disability, a teacher should avoid:
Options :

1. breaking long tasks into appropriate parts.

2. providing prompts of strategies to use.

3. providing reqgular, quality feedback

4, setting rigid timelines of task submission.

Question Number : 18 Question Id : 36496351454 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 36496351455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Inclusion of students from economically weaker sections in private schools under the provision of

Right to Education Act (2009) mainly aims at:
Options :

1. Burdening the teacher with extra work.

2. Perpetuating inequality in education.

3. Reducing social stratification.

4. Strengthening stereotypes related to social classes.

Question Number : 19 Question Id : 36496351455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 36496351456 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is a correctly matched pair of appropriate accommodation strategy for

inclusion of students with the specified characteristics?
Options :

1. Gifted: Give space to work independently

2. Autism: Increase sensory overload

3. Dyslexia: Assessment based on long-essay writing

4. Hearing impairment: Show movies without subtitles

Question Number : 20 Question Id : 36496351456 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496351457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A teacher discusses with her class 6th students, norms and rules for having

meaningful classroom discussions.

Reason (R): Teacher should always be in control in the class and dictate classroom rules without



consulting the students.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 21 Question Id : 36496351457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 36496351458 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a socio - constructivist classroom -

Options :

1. learning is decontextualized.

2. teachers are in total control of the classroom.

3. students construct knowledge by interacting with each other and the teachers.

4. assessment is summative and standardized.

Question Number : 22 Question Id : 36496351458 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 36496351459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct as per National Education Policy 20207?
Options:

1. Monolingualism should be practiced at all levels.



2. Emphasis should be placed on rote learning and learning-for exams.
3. Use of technology should be discouraged for divyang students.

4. Flexibility should be provided for students to choose their learning trajectories and

programmes.

Question Number : 23 Question Id : 36496351459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 36496351460 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): The new learning should be based upon preceding facts and information and related

to what children already know.

Reason (R): Children learn in a spiral and not a linear way.

Choose the correct option.



Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 24 Question Id : 36496351460 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 36496351461 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to facilitate learning among students, a teacher should students to participate
in classroom discussions and other activities.
Options :

1. discourage, constructive

2. discourage, meaningful



3. encourage, collaborative

4. encourage, meaningless

Question Number : 25 Question Id : 36496351461 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 36496351462 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How does a child primarily think and learn?

Options :

1. By being a passive receiver of information.

2. Through fear of punishment.

3. Through her own activity in the world including social interactions.

4. By forming stimulus-response associations.

Question Number : 26 Question Id : 36496351462 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 36496351463 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which the following statements is NOT correct in the context of alternative conceptions of

children?
Options:
1. Children’s conceptions are based on their social and cultural experiences.

2. Children are born to make sense of the world and they try to formulate reasons for

phenomenon around them.
3. Children are illogical, unintelligent and do not possess the capacity for meaning - making.

4. It is important to understand children’s conceptions and build upon it.

Question Number : 27 Question Id : 36496351463 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 36496351464 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Knowledge that individual have about their own thinking and how they themselves learn is called -
Options :

1. cognition

2. metacognition

3. declarative knowledge

4. procedural knowledge

Question Number : 28 Question Id : 36496351464 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 36496351465 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Students should be encouraged to set goals and adopt a view of ability.
Options :

1. mastery-oriented; entity

2. mastery-oriented; incremental

3. ego-involved; entity

4. ego-involved; incremental

Question Number : 29 Question Id : 36496351465 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 36496351466 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following factors are responsible for children’s failure in schools?

(i) Fear and anxiety

(ii) Boredom and confusion

(iii) Irrelevant curriculum

(iv) Decontextualized pedagogy
Options :

1. (i) (iii)

2. (i) (ii) (iii)

3. (i) (iii) (iv)

4. (i) (ii) (iii) (iv)

Question Number : 30 Question Id : 36496351466 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
. (i) 3 (iii)

5 (D), (ii) R (iii)



5. (D), (iii) ¥ (iv)

5 (1) (i), (iii) 37 (iv)

Social Studies or Social Science

Section Id : 3649631643
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60

Number of Questions to be attempted : 60

Section Marks : 60

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649632979
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 36496351467 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Match the evidence found with the correct archaeological site.

List I List II
Grain and Bones Sites
a. Millets, cattle, sheep, goat and (i) Guitkral (Kashmir)
pig.
b. Wheat and lentil (ii) Mahagara (Uttar Pradesh)
c. Hoof marks on clay surface (iii) Hallur (Andhra Pradesh)
d. Rice and fragmentary animal (iv) Koldihwa (Uttar Pradesh)
bones
Options :

1. a-iii, b-i,c-ii, d-iv
2. a-iv, b-ii, c-iii, d-i
3. a-iii, b-iv, c-ii, d-i

4. a-ii, b-i,c-iv, d-iii

Question Number : 31 Question Id : 36496351467 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
o7t 50 |l o QO o 1Y e it

T | (AT 31 Fgiea) T — 11 (FTE)
a. SAT-ETSET, 9, 9T, . TR (FTHR)
FRAT, G
b. T A TR ii. HENTET (I W)
c. M WE F =% iii. o (AT M)
d. =TEd, SR B EgreAl | iv.  wiesedT (I HaT)
Options :

1 a-(iii), b-(i), e-(ii), d-(iv)

, a~(iv), b-(i), e-(iii), d-(i)



. a(iii), b-(iv), (i), d-(i)

. a~(ii), b=(i), e-(iv), d~(iii)

Question Number : 32 Question Id : 36496351468 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At which of the following sites of the Indus Valley civilization adults were generally buried in the

ground, laid out straight, with the head towards north?
Options :

1. Lothal

2. Gufkral

3. Mehargarh

4. Inamgaon

Question Number : 32 Question Id : 36496351468 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:



Question Number : 33 Question Id : 36496351469 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following Assertion (A) and Reasoning (R) on ‘Empires’.

Assertion (A): Emperors needed more resources as their empire was large and needed big armies

for protection.
Reasoning (R): A large number of officials were appointed to collect taxes and tributes.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 33 Question Id : 36496351469 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 36496351470 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements related to architecture is not correct?

Options :

1. The “Keystone” at the centre of the arch transferred the weight of the superstructure to the
base of the Arch.

2. Limestone cement was increasingly used in construction.

3. Pietra dura was a technique to place horizontal beams across two vertical columns.

4. The weight of the superstructure above the doors and windows was sometimes carried by

arches.

Question Number : 34 Question Id : 36496351470 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 36496351471 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Weavers of which community in Thanjavur and Uraiyur, during the Chola dynasty, were producing

cloth for the temple flags?
Options :

1. Padmashali

2. Devanga

3. Panika

4. Saliya

Question Number : 35 Question Id : 36496351471 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T 39 3 ST 6 T T, AT S0 3 3-8 T F R, ATt % 1G] 5 o, 93 T 3 &7

Options:

Question Number : 36 Question Id : 36496351472 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



There were a variety of cultural expressions in the medieval period that flourished across the

Indian subcontinent.

Match the following items in List I with those in List II.

List] ListII
a) Grammar and Poetics (1) Rasmanjari
b) Storytelling (1) Lilatilakam
¢) Distinctive style (11) Kathak
d) Miniature painting (ilv) Gharanas

Choose the correct option.
Options:

1. a-i, b-ii,c-iii, d-iv

2. a-ii, b-iii, c-iv, d-i

3. a-iii, b-iv, c-i, d-ii

4. a-iv, b-i,c-ii, d-iii

Question Number : 36 Question Id : 36496351472 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1 a=(1), b-(i1), c-(iii), d-(iv)



. a-(ii), b-(ii), c-(iv), d-(i)

. a<(iii), b-(iv), (i), d-(ii)

4 a-(1v), b-(1), c-(i1), d-(ii1)

Question Number : 37 Question Id : 36496351473 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the tribes with the region they have originally lived in.

List1 ListII
a. Khokhar (1) Multan & Sind
b. Langhas & Arghuns (i) Western Himalaya
¢. Balochis (i) Punjab
d. Gaddis (iv) North-West

Choose the correct option.
Options :

1. a-iii, b-i,c-iv, d-ii

2. a-ii, b-iv, c-iii, d-i

3. a-iii, b-iv, c-ii, d-i

4. a-iv, b-ii,c-i, d-iii

Question Number : 37 Question Id : 36496351473 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1 a-(1i1), b-(1), c-(iv), d-(ii)

, a<(ii), b-(iv), e(ii), d-(i)

a(iii), b-(iv), c~(ii), d-(i)

. a=(iv), b-(ii), (i), d-(iii)

Question Number : 38 Question Id : 36496351474 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following Assertion (A) and Reasoning (R) on the problems of indigo cultivators and the

Blue Rebellion.
Assertion (A): In 1859, the ryots of Bengal rose in rebellion, refusing to grow indigo.
Reasoning (R): They were tired of the oppression forced on them by the zamindars.

Choose the correct option.
Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).



2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 38 Question Id : 36496351474 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 36496351475 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pandita Ramabai was an eminent Sanskrit scholar of the 19t" century. Following are three

statements made by students in a class. Choose the option that reflects her life and views.
A. Hinduism has been progressive towards women.

B. Founded a widow's home at Poona.



C. Wrote the book Stripurushtulna, condemning the social differences between men and women.
Options:

1.Only A

2.0nly B

3.0nly C

4.0nly Aand B

Question Number : 39 Question Id : 36496351475 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 FETA

Question Number : 40 Question Id : 36496351476 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who among the following wrote The Cultivator's Whipcord?




Options :

1. Keshub Chundersen
2. Henry Derozio

3. Pandita Ramabai

4. Jyotirao Phule

Question Number : 40 Question Id : 36496351476 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 36496351477 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following statements A and B on Varna order.

A. During later Vedic period, the Brahmanas devided people into four groups called ‘Varnas' and

this division was based on the system of hierarchy and discrimination against the lower varnas.

B. Many people did not accept the system of varnas laid down by the Brahmanas.




Choose the correct option.

Options:

1. Ais true but B is false.

2. Ais false but B is true.

3. Both A and B are true and A is the reason for B.

4. Both A and B are true and A is not the reason for B.

Question Number : 41 Question Id : 36496351477 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 36496351478 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the Assertion (A) and Reasoning (R) on nationalist movement and Choose the correct option.



Assertion (A): A number of political associations were formed after 1850 by the Indians.

Reasoning (R): The consciousness that the British were exercising control over the resources of
India and the lives of its people, and until this was ended India could not be for Indians, emerged

during the second half of the nineteenth century.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 42 Question Id : 36496351478 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 36496351479 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Arrange the following in chronological order.

A. Simon Commission

B. Rowlatt Act

C. Khilafat Agitation

D. Dandi March
Options :

1.C,B,Aand D
2.B,C,DandA
3.A,B,Dand C

4.B,C,Aand D

Question Number : 43 Question Id : 36496351479 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4 B,C,ASRD

Question Number : 44 Question Id : 36496351480 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For which of the following causes did the veteran Gandhian Potti Sriramalu die?
Options :

1. He was protesting against Simon Commission.

2. He was protesting against the division of India.

3. He was demanding a separate state for Telugu speakers.

4. He was demanding entry of ‘lower castes’ into temples.

Question Number : 44 Question Id : 36496351480 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 36496351481 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Read the statements and choose the correct option.

Assertion (A): Mercury takes only about 88 days to complete one round along its orbit, as it is

nearest to sun.

Reason (R): All the eight planets of the solar system move around the sun in fixed elongated paths

called orbits.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 45 Question Id : 36496351481 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 36496351482 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What will be the time at 30%E when it is 12 noon at Greenwich?
Options :

1.10.00 AM

2.1.00 PM

3.2.00 PM

4.1.30 PM

Question Number : 46 Question Id : 36496351482 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Ife H= T ST 12§17, 71 30° TF 5 97 95 =Y
Options :
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4. 10:30 99T

Question Number : 47 Question Id : 36496351483 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the heat zone of the earth based on the given characteristics.



A. Areas are very cold.

B. The sun here does not rise above the horizon.

C. Areas lying between the Arctic Circle and the North Pole and Antarctic Circle and South Pole.
D. Sun rays are always slanting and provide less heat.

Choose the correct option.
Options :

1. Frigid Zone

2. Torrid Zone

3. Temperate Zone

4. Hot Zone

Question Number : 47 Question Id : 36496351483 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 36496351484 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the equator and parallels of latitudes with their location.

a. Arctic Circle i) 23:°s
2

b. Tropic of Capricorn (i) 90°N

c. Equator (i) 66-"N
2

d. North Pole (lv) O°

Choose the correct option.
Options :

1. a-(i), b-(ii), c-(iii), d-(iv)

2. a-(ii), b-(iv), c-(iii), d-(i)

3. a-(iii), b-(i), c-(iv), d-(ii)

4. a-(iv), b-(i), c-(ii), d-(iii)

Question Number : 48 Question Id : 36496351484 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1 a=(1), b=(ii), c~(iii), d-(iv)

, a<(ii), b-(iv), e(iii), d-(i)

. a~(iii), b-(i), e=(iv), d-(ii)

. a-(iv), b-(i), c<(ii), d-(iii)

Question Number : 49 Question Id : 36496351485 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is the correct explanation of environment?
A. The place, things and nature that surround any living organism.
B. Only human activities on earth.

C. Both biotic and abiotic conditions existing on the earth.



D. The combination of natural and human-made phenomena.

Choose the correct option.
Options :

1.A, CandD.

2. A, BandD.
3.B,CandD.

4. A BandC.

Question Number : 49 Question Id : 36496351485 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TAfAREs = o h1H-91 9T I T 7el ST 27
A. Toreft =ftar 3 =T ST o1 29T, U U8 T
B. el W et e R
C. gea W AT 3R ST a1 i)

- [ - =, & =
D. AR 3R ATehlaeh W4T 339 J9=/THA

2T Taerea =1 =99 Fifsm —
Options:
, A, CHRD

, A,B¥RD

B,CHRD

3

4 A/ BERC

Question Number : 50 Question Id : 36496351486 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Identify the type of forests based on the features described below.
A. They are commonly found along the eastern margin of the continents, such as South China.
B. Oak, pine, eucalyptus are examples of the trees found here.

Choose the correct option.
Options :

1. Tropical Evergreen Forests

2. Tropical Deciduous Forests

3. Temperate Evergreen Forests

4. Temperate Deciduous Forests

Question Number : 50 Question Id : 36496351486 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 36496351487 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following natural vegetation with the required rainfall conditions.

A. Forests (1) Moderate rainfall
B. Grasslands (i1) Low rainfall
C. Shrubs (111)  Plentiful rainfall

Choose the correct option.
Options :

1. A-(iii), B-(i), C-(ii)

2. A-(ii), B-(iii), C-(i)

3. A-(i), B-(ii), C-(iii)

4. A-(i), B-(iii), C-(ii)

Question Number : 51 Question Id : 36496351487 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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4 A-(1), B-(111), C-(11)

Question Number : 52 Question Id : 36496351488 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following gases is produced by plants during photosynthesis?
Options :

1. Nitrogen

2. Carbon dioxide

3. Oxygen

4. Hydrogen

Question Number : 52 Question Id : 36496351488 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 53 Question Id : 36496351489 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Read the statements A and B and choose the correct option.
Statement (A): The amount of insolation decreases from equator towards poles.
Statement (B): Solar radiation does not affect the distribution of temperature on earth.

Choose the correct option.

Options :

1. Both (A) and (B) are true and (B) is the correct explanation of (A).

2. Both (A) and (B) are true but (B) is not the correct explanation of (A).
3. (A) is true but (B) is false.

4. Both (A) and (B) are false.

Question Number : 53 Question Id : 36496351489 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 36496351490 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the means of transport with their important features.

List] ListIl
A. Roadways (1) Fastest ways of transport.
B. Railways (i)  Cheapest means for carrying
heavy and bulky goods over
long distances.
C. Waterways (i)  Carry heavy goods and people
over long distances quickly and
cheaply.
D. Airways (iv) Most commonly used specially
for short distances.

Select the correct option.
Options :

1. A-(i), B-(ii), C-(iv), D-(iii)
2. A-(iii), B-(iv), C-(i), D-(ii)
3. A-(iv), B-(iii), C-(ii), D-(i)

4. A-(ii), B-(i), C-(iii), D-(iv)

Question Number : 54 Question Id : 36496351490 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



UIEES % |TEH 31 G 36 WA il Hecaqul [Seearel % vy A
A FZFAM | i UNEET F HEE A 9a 2

B. ToHT ii. e g H W vE S S T
HTETT 1 &4 3 70 Tae ST 9147 2
C. Foq™ | iii. AT=dT 9 U9 %5 T=/=5F § AT

ST U 9RT HE 1 & H F
D.aEAF | iv. FH T IATATEIE F FEH HATF TR
2T ST ST =T
T farea o1 =91 e —

Options :
. A(i), B(ii), C(iv), D-(iii)

, Ax(iii), B~(iv), C(i), D~(ii)

5 A(iv), B(iii), C(ii), D(i)

4 A-(ii), B-(i), C(iii), D-(iv)

Question Number : 55 Question Id : 36496351491 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Access to clean and adequate water sources is a major problem the world is facing today. Choose

the methods from the following for conservation of water.
A. Properly lined irrigation canals.
B. Use of sprinklers, drip irrigation.

C. Digging deep wells.



D. Water harvesting

Choose the correct option.
Options :

1.A,CandD

2.B,Cand D
3.A,B,andD

4. A, BandC

Question Number : 55 Question Id : 36496351491 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 36496351492 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read statements A and B on resources and identify which resource is being referred.
A. Natural substances become resources only when their original form is changed.

B. Technology is both an example of this resource, as well as important factor for generating more

of this resource.

Choose the correct option.
Options :

1. Abiotic resource

2. Actual resource

3. Human resource

4. Human made resource

Question Number : 56 Question Id : 36496351492 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. T T T

Question Number : 57 Question Id : 36496351493 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the type of farming with the region where it is mainly practised.

A. Intensive subsistence (1)  Coffee in Brazil
agriculture

B. Plantations (1) Temperate grasslands

C. Shifting cultivation (i) Monsoon region

D. Commercial grain farming (iv)  Tropical Africa

Choose the correct option.
Options:

1. A-(ii), B-(iii), C-(i), D-(iv)
2. A-(iii), B-(i), C-(iv), D-(ii)
3. A-(i), B-(iv), C-(ii), D-(iii)

4. A-(iv), B-(ii), C-(iii), D-(i)

Question Number : 57 Question Id : 36496351493 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

. A(ii), B(iii), C-(i), D~(iv)

5 A(iii), B(i), C-(iv), D-(ii)

o A~(i), B=(iv), C=(i), D-(iii)

4 A-(1v), B-(11), C-(ii1), D-(1)

Question Number : 58 Question Id : 36496351494 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a school is celebrating festivals, which of the following situations reflects the celebration of
diversity?

Options :

1. Raksha Bhandan in a Haryana school

2. Onam in a Madhya Pradesh school

3. Pongal in a Tamil Nadu school

4. Holi in a Uttar Pradesh school

Question Number : 58 Question Id : 36496351494 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 36496351495 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who coined the phrase Unity in Diversity?
Options :

1. Mahatma Gandhi

2.Jawahar Lal Nehru

3. Rabindra Nath Tagore

4. Sardar Vallabh Bhai Patel

Question Number : 59 Question Id : 36496351495 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 36496351496 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A system of government in which power is divided between a central authority and various

constituent units is called a

Options :

1. Democratic state
2. Federal state

3. Unitary state

4. Communist state

Question Number : 60 Question Id : 36496351496 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 36496351497 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Who from among the following appoints the secretary of a Gram Panchayat?
Options:

1. Panchayat Samiti

2. Zila Parishad

3. Sarpanch

4, Government

Question Number : 61 Question Id : 36496351497 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 36496351498 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements and choose the correct option.
Assertion (A): Agricultural labourers do not find regular work throughout the year.

Reason (R): The land owners go for cheap labour from other villages.

Options :



1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 62 Question Id : 36496351498 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 36496351499 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In an ideal democracy, the real source of power is/are
Options:

1. the Parliament

2. the Judiciary



3. the People

4. the Aristrocrats

Question Number : 63 Question Id : 36496351499 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 36496351500 Question Type

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are examples of a stereotype?
A. Girls are emotional, soft spoken and gentle.

B. Boys are rowdy and physically strong.

C. Boys and girls are good in Maths.

Choose the correct option.
Options :

1.Aand B

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



2.Band C
3.Aand C

4. A, Band C

Question Number : 64 Question Id : 36496351500 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 36496351501 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following articles provide protection to persons arrested or detained under

preventive detention law?
Options :
1. Article 17

2. Article 21



3. Article 22

4. Article 25

Question Number : 65 Question Id : 36496351501 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 36496351502 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Constitution of India defines and demarcates the roles and responsibilities of three organs of
the State-namely-the legislature, the executive and the judiciary. This separation of powers
ensures

A. prevention of the misuse of power by any organ of the state.

B. a check on the powers of the three organs of the state.

C. to strengthen the spirit of co-operative federalism in India.



D. balance of power between all three organs of the state.

Choose the correct option.
Options :

1. A, Band D are true.
2.B, Cand D are true.

3. A, Cand D are true.

4. A, B and C are true.

Question Number : 66 Question Id : 36496351502 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 36496351503 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Under which Article did the Supreme Court direct the West Bengal government to pay

compensation to Hakim Sheikh under Right to health?
Options :

1. Article 14

2. Article 21

3. Article 25

4. Article 32

Question Number : 67 Question Id : 36496351503 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 36496351504 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Who was the chairman of the committee that was formed in 2005 to examine the social, economic

and educational status of the Muslim community in India?
Options :

1. Justice N.V. Ramana

2. Justice Ranjan Gogoi

3. Justice Rajinder Sachar

4. Justice Y.V. Chandrachud

Question Number : 68 Question Id : 36496351504 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 36496351505 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When a community is forced to live on the fringes of social and economic development, this is

known as

Options :



1. malnourishment
2. displacement
3. marginalisation

4. communalisation

Question Number : 69 Question Id : 36496351505 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 36496351506 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the livelihoods in List I with the nature of their work given in List II.

List1 ListII
a) Rickshaw Puller (1)  Shift work and temporary work
b) Garment Worker (1) Self-employed and no social security
c) Office Worker (1) Employ other workers and Self-employed
d) Shopkeeper (iv) Monthly salary




Choose the correct option.
Options:

1. a-i, b-ii, c-iii, d-iv

2. a-ii, b-i, c-iv, d-iii

3. a-iii, b-iv, c-i, d-ii

4. a-iv, b-iii, c-ii, d-i

Question Number : 70 Question Id : 36496351506 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 36496351507 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are normative concerns of social science?
A. Respect for diversity

B. Human Values

C. Personal Development

D. Freedom

Choose the correct option.
Options :

1.A,Band C

2.B,Cand D

3.A,Band D

4.A,Cand D

Question Number : 71 Question Id : 36496351507 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 36496351508 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘The Social and Political life' textbooks at elementary level use storyboards because
(A) they enhance the aesthetic value of the book.

(B) they draw learners attention into the narrative through use of visuals

(C) they are added in book for student's entertainment

(D) stories are easily available for these books and related topics.

Choose the correct option.
Options :

1. Only A is true.

2.0nly Bis true.

3.0nly A, B and C are true.

4.0nly A, B and D are true.

Question Number : 72 Question Id : 36496351508 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 36496351509 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A social science teacher is planning to discuss about ‘marginalisation’ with her students. Which of

the following concepts is she most likely to put in her discussion?
A. Land acquisition and forceful eviction of tribals from their land
B. Stereotypical images about communities

C. Positive discrimination

D. Social, economic and educational status of a particular community



Choose the correct option.
Options:

1.0nly A, Band C

2.0nly B, Cand D
3.0nlyA,Band D

4.0nly A, B,CandD

Question Number : 73 Question Id : 36496351509 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T T o1 O oTTqenT S0 T ZTOTorcoT O 7 e 61 AT & 1 2] T B 6 -9 e
1 3% VT 56 = 5 I o T 201 T ST 2

A %{\&Wﬁlﬁw A ST T 3 3 ‘{\ﬁ%wuﬁm el

B, H@Eﬂ*%ﬁﬁ@ﬁﬁ@%ﬁ

(. THATT e

D, T TS 1 I, 1 T 37 (e

T A I T —

Options:
FIT A, BARC

1.

5 Fa=1 B. C 3IFD

; ¥EAA,BIRD

4 A B,CRDEH

Question Number : 74 Question Id : 36496351510 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



As a social science teacher you want to assess your students understanding of ‘changes of seasons

on earth’. Which of the following activity will most likely find place in your class?

A. Asking students to note down the timings of sunrise and sunset for about 6 months from old

news papers. Also comparing the days and nights and explaining the factors for this difference.

B. Asking students to draw an ellipse.

C. Asking students to explain revolution of the earth and its relationship with seasons.

D. Asking students to calculate next leap year.

Choose the correct option.
Options:

1.0nlyAand B
2.0nlyBand C
3.0nlyAand C

4.0nly C

Question Number : 74 Question Id : 36496351510 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 36496351511 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher is discussing conflict resolution and key players in democracy with class VI students.

Which of the following topics is she most likely to be discussing?
Options:

1. Role of government

2. Role of social movements

3. Panchayat Raj system

4. Universal voting in a democracy

Question Number : 75 Question Id : 36496351511 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 36496351512 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child who has never been to a village asks how is it possible to measure fields? As a teacher,
which of the following aids would be most appropriate to explain, assuming you have access to all

of them?

Options :

1. An expert from a village ethnography
2. A picture of a Khasra record

3. Picture of tools used by a Patwari

4. A map of a village

Question Number : 76 Question Id : 36496351512 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 36496351513 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A social science teacher wants students to discuss the theme ‘Equality’. Which of the following

activities will be most suitable for this?
A. Asking students to discuss about two examples she has already given in the previous class.

B. Asking students to form small groups and work collectively to find out new examples for

equality.
C. Asking students to discuss examples wherein people have been treated unequally.

Choose the correct option.
Options :

1.0nly B

2.0nly Aand B
3.0nlyBand C

4. All A, Band C

Question Number : 77 Question Id : 36496351513 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496351514 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching the topic 'Markets', a teacher asks the students, ‘How do you think your

neighbourhood shop gets its goods? Why are there shortages of items sometimes?

The teacher is trying to encourage which of the following skills?
Options:

1. Reasoning

2. Narration

3. Extrapolate

4. Compare

Question Number : 78 Question Id : 36496351514 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 36496351515 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following questions would be most appropriate to assess critical thinking skills on the
topic media?

Options :

1. Explain how media gets information for its reports.

2. Whose point of view is this article missing out?

3. Provide examples of ‘setting agenda'’.

4. Define the terms ‘public protest’ and ‘censorship’.

Question Number : 79 Question Id : 36496351515 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 36496351516 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student in class says, “Bandagans or military slaves had a high status during the times of Khalijs
and Tughlugs. So in medieval India, slaves seemed to have held a good position in Sultanate

courts.”

Which of the following type of reasoning is the student using while making this statement?
Options:

1. Inductive reasoning

2. Deductive reasoning

3. Cause-effect reasoning

4. Reductive reasoning

Question Number : 80 Question Id : 36496351516 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 36496351517 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a geography class, a teacher asked her students to locate places on a globe, but she has
observed that many of her students are unable to correctly locate places with the given

instruction. Which of the following problems are most likely being faced by the students?

A. Students cannot read the grid of parallels.

B. Students do not know how to place directions on a globe.

C.Informaion on directions of latitude and longitudes are not being properly given by the teacher.

Choose the appropriate option.
Options:

1. Only B is possible.

2.0nly A and B are possible.

3. 0Only B and C are possible.



4. All A, B and C are possible.

Question Number : 81 Question Id : 36496351517 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 36496351518 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

With the help of primary sources, you want to find out more about the time when the East India
Company was gradually transforming into a colonial power. Which among these would you

choose for the purpose?

A. Paintings drawn by painters commissioned by the British to commemorate certain events.



B. Records of speeches delivered by certain British administrators in the British Parliament during

that time.

C. An article in a history journal that talks about the early activities of the British in the Indian

subcontinent.

Choose the correct option.
Options :

1.0nly A

2.0nly C

3.0nlyAand B
4.0nlyBandC

Question Number : 82 Question Id : 36496351518 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 36496351519 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher wants her students to inquire about development of industries in her social science

classroom. Which of the following activities have more chances to be included in her teaching?

A. Asking students to talk to two workers to find out if they are receiving the minimum wages laid

down by law.

B. Asking students to find out the changes in land use pattern in their village/city/twon.

C. Asking students to perform a role play on issues of social justice taking examples from their

experiences.

D. Asking students to write about whether the victims of the Bhopal gas tragedy got justice or not.

Choose the appropriate option.
Options :

1.0nly A, Band C

2.0nly B, Cand D

3.0nlyA, Cand D

4.0nlyA,Band D

Question Number : 83 Question Id : 36496351519 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 36496351520 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following passage:

“The popular perception of social science is that it is a non-utilitarian subject. As a result, low self-
esteem governs the classroom-transaction process, with both teachers and students feeling
uninterested in comprehending its contents. From the initial stages of schooling, it is often
suggested to students that the natural sciences are superior to the social sciences, and are the

domain of ‘bright’ students.”

Considering the above problems related to the study of Social Science, how can teachers make it

more relevant for students? Choose the correct option.



A. By emphasising that the social sciences are essential to provide social skills required to adjust to

an increasingly interdependent world.

B. By highlighting the fact that the social sciences are vital in laying the foundations of an

analytical and creative mind.

C. By imitating the methods of inquiry used in the physical and natural sciences.
Options:

1. Only A is correct.

2. Only Cis correct.

3. Only A and B are correct.

4. All A, B and C are correct.

Question Number : 84 Question Id : 36496351520 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496351521 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following assessments tools is generally not considered to evaluate the projects

submitted by learners?
Options :

1. Rubrics

2. Rating scale

3. Checklist

4. Classroom Quiz

Question Number : 85 Question Id : 36496351521 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496351522 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following questions assesses the 'application' dimensions of cognitive process of

learners?

A. Give two reasons for declining child sex ratio in India.

B. If it is 3.30 pm in London which is located nearby Greenwich, what is the time in Kolkata?

C. What is the difference between disguised unemployment and seasonal unemployment?
D. Which of the following activities can be included in the secondary sector: sandalwood making,
quarrying, selling vegetables on roadsides and furniture making?

Choose the correct option.
Options :

1.A,Band C

2.Band C

3.Band D

4. Aand D

Question Number : 86 Question Id : 36496351522 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 36496351523 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A portfolio is considered as an authentic means of assessment as it -

A. is based on evidence.

B. provides samples of work which show learning growth over time.

C. arandom collection of variety of student's work.

D. a colourful collection of students work.

Choose the correct option.

Options :



1.0nlyAand B
2.0nly Cand D
3.0nlyA,Band C
4.0nlyB,CandD

Question Number : 87 Question Id : 36496351523 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

S e e

e QIS IToraT Sl STTeheT o1 UeF TS | 9197 a7 2, 99173 98 —
A. T O AT 2 2
B. Wﬂﬁ%%mﬁﬁf%‘mﬁs’mﬂ%ﬁﬁmﬁwﬁ SUeToY FAT B
D. ferefifart 2 =t 1 v Tfem R A B

T ~.
2T 9T o1 =99 hiITeT —
Options :

1. I A TITB
>, FFA C FATD

N FaA A, BFATC

N FTTB. CTITD

Question Number : 88 Question Id : 36496351524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are mainly used in the assessment for certification?

A. Term end examination



B. Summative examination
C. Formal and Informal observation in class

D. Diagnostic evaluation
Options :

1. A and B only

2.Conly

3.A, Cand D only

4. A, B and D only

Question Number : 88 Question Id : 36496351524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 36496351525 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Suppose a teacher wants to know the entry behaviours/prior knowledge of learners, which type of

evaluation can she go for?
Options :

1. Diagnostic Evaluation
2. Placement Evaluation
3. Summative Evaluation

4. Formative Evaluation

Question Number : 89 Question Id : 36496351525 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 36496351526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following questions assess the learners’ ‘analysis’ aspect of the cognitive dimension?



A. When French Revolution did take place?

B. How is food security ensured in India?

C. Write essays on (i) Minimum Support Price (ii) Public Distribution System

D. What do you understand by the word ‘government’? List five ways in which you think the

government affects your daily life.

Choose the correct option.
Options :

1. A and B only

2. A and Conly

3.B, Cand D only

4. A, B and D only

Question Number : 90 Question Id : 36496351526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 3649631644
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649632980
Question Shuffling Allowed : Yes

Question Id : 36496351527 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/complete the
statements that follow by choosing the most appropriate options out of
the given ones.

1. Lionel was in a bad shape. He was bloodied and beaten. He was
too weak to haul his poor, broken little body inside the house. By
the time Nola saw him; his battered body had already lost too
much blood. Lionel, the duck, died a few minutes later.

2. When Nola broke the news to her customers, they were
devastated. One elderly gentleman was especially heart-broken.
He used to feed Lionel a slice of bread or a biscuit which he kept
in his pocket especially for the occasion. They would spend an
hour every week like that, enjoying each other’s company. When
he heard about Lionel’s death, the old man sat down on the same
bench and let the tears run freely down his cheeks. Two weeks
later, he was dead.

3. Nola also had to tell the children who used to play with Lionel on
their way to school. Lionel waddled around them, muttering and
letting them feel his soft white feathers while they waited for the
bus. Some of the children made sympathy cards for Nola. She also
received many condolences — a few from friends and many from
strangers. It was only then that she realised how many friends
Lionel had made; how many hearts he had touched. It seemed as
if the whole town was mourning his death.

Sub questions

Question Number : 91 Question Id : 36496351528 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which ultimate factor led to Lionel’s death?
Lionel could not be saved as

he was very weak.

he was bloodied and beaten.
he had lost too much blood.
4. he was in a bad shape.

il ol

Options:
1.1
2.2
3.3
4.4



Question Number : 92 Question Id : 36496351529 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:

A. The old gentleman was devastated because he
would not be able to feed Lionel bread or biscuit
henceforth.

B. He enjoyed feeding Lionel at least for one hour
every day.

Both A and B are true and B is responsible for A.
Both A and B are true and A is responsible for B.
A is false but B is true.
4. Als true but B is false.

L

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496351530 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nola was a/an:

member of a religious institution.
store keeper.

house wife.

4. aveterinary surgeon.

o I

Options :
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 36496351531 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The school children were sad because Lionel:

used to walk with them to school.

boarded the school bus along with them.
played with them in the school bus.

4. allowed them to feel his soft white feathers.

il il v

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496351532 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nola received many condolences from friends and
strangers. She felt

proud

sad
sympathetic
4, angry

el ol

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 36496351533 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In para 3 — ‘While they waited for the bus’ is an example of
afan

noun clause
adjective clause
adverb clause

4, coordinate clause

Ll

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496351534 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Lionel waddled around them’ means he

walked with short steps
galloped excitedly

had a swinging gait
both (1) and (3)

P L B b

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496351535 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘battered’ in para 1 is used as a/an

verb
adjective
noun
adverb

i G Metiist



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496351536 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word ‘mourn’ in para 3 means to feel and show their

anger
frustration
sadness
apathy

B e

Options :
1.1
2.2
3.3
4.4

Question Id : 36496351527 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/complete the
statements that follow by choosing the most appropriate options out of
the given ones.

1. Lionel was in a bad shape. He was bloodied and beaten. He was
too weak to haul his poor, broken little body inside the house. By
the time Nola saw him; his battered body had already lost too
much blood. Lionel, the duck, died a few minutes later.

2. When Nola broke the news to her customers, they were
devastated. One elderly gentleman was especially heart-broken.
He used to feed Lionel a slice of bread or a biscuit which he kept
in his pocket especially for the occasion. They would spend an
hour every week like that, enjoying each other’s company. When
he heard about Lionel’s death, the old man sat down on the same
bench and let the tears run freely down his cheeks. Two weeks
later, he was dead.

3. Nola also had to tell the children who used to play with Lionel on
their way to school. Lionel waddled around them, muttering and
letting them feel his soft white feathers while they waited for the
bus. Some of the children made sympathy cards for Nola. She also
received many condolences — a few from friends and many from
strangers. It was only then that she realised how many friends
Lionel had made; how many hearts he had touched. It seemed as
if the whole town was mourning his death.

Sub questions

Question Number : 91 Question Id : 36496351528 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which ultimate factor led to Lionel’s death?
Lionel could not be saved as

he was very weak.

he was bloodied and beaten.
he had lost too much blood.
4. he was in a bad shape.

il ol

Options:
1.1
2.2
3.3
4.4



Question Number : 92 Question Id : 36496351529 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:

A. The old gentleman was devastated because he
would not be able to feed Lionel bread or biscuit
henceforth.

B. He enjoyed feeding Lionel at least for one hour
every day.

Both A and B are true and B is responsible for A.
Both A and B are true and A is responsible for B.
A is false but B is true.
4. Als true but B is false.

L

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496351530 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nola was a/an:

member of a religious institution.
store keeper.

house wife.

4. aveterinary surgeon.

o I

Options :
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 36496351531 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The school children were sad because Lionel:

used to walk with them to school.

boarded the school bus along with them.
played with them in the school bus.

4. allowed them to feel his soft white feathers.

il il v

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496351532 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Nola received many condolences from friends and
strangers. She felt

proud

sad
sympathetic
4, angry

el ol

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 36496351533 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In para 3 — ‘While they waited for the bus’ is an example of
afan

noun clause
adjective clause
adverb clause

4, coordinate clause

Ll

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496351534 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Lionel waddled around them’ means he

walked with short steps
galloped excitedly

had a swinging gait
both (1) and (3)

P L B b

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496351535 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘battered’ in para 1 is used as a/an

verb
adjective
noun
adverb

i G Metiist



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496351536 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The word ‘mourn’ in para 3 means to feel and show their

anger
frustration
sadness
apathy

B e

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 3649632981

Question Shuffling Allowed : Yes

Question Id : 36496351537 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the stanzas given below and answer the questions/ complete the
statements that follow by choosing the most appropriate options out of
the given ones.

(Richard Cory) was always quietly arrayed,

And he was always human when he talked;

But still he fluttered pulses when he said,

“Good morning” and he glittered when he walked.

And he was rich —yes richer than a king —
And admirably schooled in every grace:

In fine, we thought that he was every thing
To make us wish that we were in his place.

So we worked and waited for the light,

And went without meat and cursed the bread;
And Richard Cory, one calm summer night,
Went home and put a bullet through his head.

Sub questions

Question Number : 100 Question Id : 36496351538 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Richard Cory was dressed in:

expensive clothes

a simple dress
colourful clothes

4. loose and thin clothes

o) B

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496351539 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



He was:

poor and polite
proud and arrogant
rich and polite
rich and proud

e L B BN

Options:
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496351540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘he glittered when he walked’
The underlined is a

simile
metaphor
personification
4. symbol

ol e B

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496351541 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:
(a) People around wanted to be like him.
(b) Poor people were not jealous of him.

. (a)isright and (b) is wrong.
. (b) is right and (a) is wrong.
Both (c) and (b) are right.

4. Both (a) and (b) are wrong.

W N

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496351542 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Ordinary people:

worked hard yet they were poor.

were lazy so they could not earn their living.
worked hard and secured their meals.

4. did not have to work hard for their meat and bread.

Lid Bl P

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496351543 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The story of Richard Cory tells us that:
(a) the rich are not always proud of their riches.
(b) money can get one everything-even peace of mind
(c) Richard Cory was not happy despite his wealth.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. {(c) is right and (a) is wrong.
4. Both (a) and (b) are right.

[ R

Options :
1.1
2.2
3.3
4.4

Question Id : 36496351537 Question Type : COMPREHENSION Sub

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Question Shuffling Allowed

Read the stanzas given below and answer the questions/ complete the
statements that follow by choosing the most appropriate options out of

the given ones.

(Richard Cory) was always quietly arrayed,

And he was always human when he talked;

But still he fluttered pulses when he said,

“Good morning” and he glittered when he walked.

And he was rich —yes richer than a king —
And admirably schooled in every grace:

In fine, we thought that he was every thing
To make us wish that we were in his place.

So we worked and waited for the light,

And went without meat and cursed the bread;
And Richard Cory, one calm summer night,
Went home and put a bullet through his head.

Sub questions

Question Number : 100 Question Id : 36496351538 Question Type

: MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Richard Cory was dressed in:

expensive clothes

a simple dress
colourful clothes

4. loose and thin clothes

B B

Options:
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496351539 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

He was:

poor and polite
proud and arrogant
rich and polite
rich and proud

e Ll B B

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496351540 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘he glittered when he walked’
The underlined is a

simile
metaphor
personification
4. symbol

ol e B

Options:
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496351541 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) People around wanted to be like him.
(b) Poor people were not jealous of him.

1. (a)isright and (b) is wrong.
2. (b)isright and (a) is wrong.
3. Both (c) and (b) are right.

4. Both (a) and (b) are wrong.

Options:
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496351542 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ordinary people:

1. worked hard yet they were poor.

2. were lazy so they could not earn their living.

3. worked hard and secured their meals.

4. did not have to work hard for their meat and bread.

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496351543 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The story of Richard Cory tells us that:
(a) the rich are not always proud of their riches.
(b) money can get one everything-even peace of mind
(c) Richard Cory was not happy despite his wealth.

1. (a)isright and (b) is wrong.
2. (b)is right and (c) is wrong.
3. (c) isright and (a) is wrong.
4. Both (a) and (b) are right.

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3

Sub-Section Id : 3649632982

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 36496351544 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Situation (i): Ramesh and Suresh discuss over lunch, in English, what they did at home the previous day.
Situation (ii): Sunaina writes a detailed note in English on the experiment she performed in the Science lab.
Considering BICS and CALP as two aspects of language skills, which situation represents what?

1. (i)is CALP. (i) is BICS
2. Both (i) and (i) are CALP
3. Both (i) and (i) are BICS
4. (i)is BICS, (ii) is CALP

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 36496351544 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Situation (i): Ramesh and Suresh discuss over lunch, in English, what they did at home the previous day.
Situation (ii): Sunaina writes a detailed note in English on the experiment she performed in the Science lab.
Considering BICS and CALP as two aspects of language skills, which situation represents what?

1. (i)is CALP. (i) is BICS
2. Both (i) and (i) are CALP
3. Both (i) and (i) are BICS
4. (i)is BICS, (ii) is CALP

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496351545 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Shyam Sunder reads a two page article from a magazine to understand the idea as a whole and tell his friend about it.
What is the reading strategy known as :

1. Tob down strategy
2. Bottom up strategy
3. Summarising

4. Study skills

Options:
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496351545 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Shyam Sunder reads a two page article from a magazine to understand the idea as a whole and tell his friend about it.
What is the reading strategy known as :

1. Tob down strategy
2. Bottom up strategy
3. Summarising

4. Study skills

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496351546 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following pedagogical methods aligns CLOSELY with the "constructivist' approach?

1. Showing day-to-day objects to introduce the concept of idioms.
2. Using annotations to infer the meaning of the text.

3. Using real-life examples to create sentences with similes.

4. Drawing a flowchart to predict the events in a story.

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496351546 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following pedagogical methods aligns CLOSELY with the "constructivist' approach?

1. Showing day-to-day objects to introduce the concept of idioms.
2. Using annotations to infer the meaning of the text.

3. Using real-life examples to create sentences with similes.

4. Drawing a flowchart to predict the events in a story.

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496351547 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



After introducing "reported speech” to grade 6 students, a teacher set up a pair activity:

Student A takes a piece of direct speech from a book and conveys it to Student B in reported speech. Student B tries to
guess what the direct speech would have been. Student A modifies his reported speech if needed, repeatedly, till
Student B guesses correctly.

The above activity MOST closely represents...

1. Krashen's Input hypothesis

2. Krashen's Acquisition—Learning hypothesis
3. Bruner's theory of development

4. Swain's Qutput hypothesis

Options :
1.1
2.2
3.3

4.4

Question Number : 109 Question Id : 36496351547 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After introducing "reported speech” to grade 6 students, a teacher set up a pair activity:

Student A takes a piece of direct speech from a book and conveys it to Student B in reported speech. Student B tries to
guess what the direct speech would have been. Student A modifies his reported speech if needed, repeatedly, till
Student B guesses correctly.

The ahove activity MOST closely represents...

1. Krashen's Input hypothesis

2. Krashen's Acquisition—Learning hypothesis
3. Bruner's theory of development

4, Swain's Qutput hypothesis

Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 36496351548 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is the MOST APPROPRIATE way for Ms. Meghna to demonstrate ‘active listening' in a story-
telling class?

1. Asastudent is telling the story, the teacher asks her clarifying questions like "When you said...what did you
mean?"

2. Once a student completes the story, the teacher asks him questions like "What were your main takeaways?",
"What did you learn?" etc.

3. While a student is sharing the moral of the story, the teacher stops her and asks for the meaning of a new word
she has used.

4, After each segment of the story shared by a student, the teacher asks another student to summarise what this
student shared.

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496351548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the MOST APPROPRIATE way for Ms. Meghna to demonstrate ‘active listening' in a story-
telling class?

1. Asastudent is telling the story, the teacher asks her clarifying questions like "When you said...what did you
mean?"

2. Once a student completes the story, the teacher asks him questions like "What were your main takeaways?",
"What did you learn?" etc.

3. While a student is sharing the moral of the story, the teacher stops her and asks for the meaning of a new word
she has used.

4, After each segment of the story shared by a student, the teacher asks another student to summarise what this
student shared.

Options:
1.1
2.2
3.3
4.4



Question Number : 111 Question Id : 36496351549 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy (NEP) 2020 recommends the study of classical languages as

1. An additional option at the secondary stage

2. An option under three language formula

3. As asecond language under language - in - education policy
4. As a modern Indian language under three language formula

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496351549 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy (NEP) 2020 recommends the study of classical languages as

1. An additional option at the secondary stage

2. An option under three language formula

3. As asecond language under language - in - education policy
4. As a modern Indian language under three language formula

Options:
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496351550 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following would you recommend as an effective strategy for vocabulary learning?

1. Word web on various themes

2. Words with their meaning in mother tongue
3. Spelling contest

4. Memorisation of word

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496351550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following would you recommend as an effective strategy for vocabulary learning?

1. Word web on various themes

2. Words with their meaning in mother tongue
3. Spelling contest

4. Memorisation of word

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496351551 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is scaffolding strategy?

Providing students with texts and tasks above their level
Providing students with texts and tasks below their level
Providing support for learners to bridge the learning gaps
Providing support for learners through drills and coachings

P L B P



Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496351551 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is scaffolding strategy?

Providing students with texts and tasks above their level
Providing students with texts and tasks below their level
Providing support for learners to bridge the learning gaps
Providing support for learners through drills and coachings

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496351552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following grammar concepts/sub-concepts is LEAST RELEVANT to be taught using the ‘inductive
approach' to teaching-learning?

1. Basic forms of comparative adjectives

2. Collective nouns for various common nouns

3. Sentence conversion from simple to continuous tense
4, Sentence conversion from active to passive voice

Options :
1.1
2.2



3.3
4.4

Question Number : 114 Question Id : 36496351552 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following grammar concepts/sub-concepts is LEAST RELEVANT to be taught using the ‘inductive
approach' to teaching-learning?

1. Basic forms of comparative adjectives

2. Collective nouns for various common nouns

3. Sentence conversion from simple to continuous tense
4. Sentence conversion from active to passive voice

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496351553 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach/strategy advocates learning of words as word chunks?

Collocation
Lexical approach
Use of dictionary
4. Word web

Sk [l i=n

Options :
1.1
2.2
3.3
4.4



Question Number : 115 Question Id : 36496351553 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach/strategy advocates learning of words as word chunks?

Collocation
Lexical approach
Use of dictionary
4. Word web

Sk [l i=n

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496351554 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher takes a weekly session to bring to the notice of learners of their errors they commit in writing. What does
she do?

1. Providing feedback

2. Error analysis

3. Correction of errors

4. Providing grammer lesson

Options:
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496351554 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A teacher takes a weekly session to bring to the notice of learners of their errors they commit in writing. What does
she do?

1. Providing feedback

2. Error analysis

3. Correction of errors

4. Providing grammer lesson

Options:
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496351555 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Atest item drops every sixth word from a passage and ask learners to supply the missing word. What is this test item
known as?

1. Fillin the blanks
2. Cloze

3. Grammer task

4. vocabulory task

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496351555 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A test item drops every sixth word from a passage and ask learners to supply the missing word. What is this test item
known as?

1. Fillin the blanks
2. Cloze

3. Grammer task

4. vocabulory task

Options:
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496351556 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following teaching-learning materials is a good resource to build the skill of 'making text-to-world
connections'?

1. Authentic materials and texts

2. Word wall in the classroom

3. Same text translated in multiple languages
4. Literature texts of different genres

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496351556 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following teaching-learning materials is a good resource to build the skill of 'making text-to-world
connections'?

1. Authentic materials and texts

2. Word wall in the classroom

3. Same text translated in multiple languages
4. Literature texts of different genres

Options:
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496351557 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the BEST example of the flipped classroom approach' to teach about different writing styles?

1. Teacher assigns students an online exercise on classifying texts based on their writing styles and then gives them
individual feedhack.

2. Students watch a video about writing styles at home and in their next class identify which texts shared by the
teacher belong to each style.

3. Teacher delivers a lecture on writing styles over a video conference and students then watch more videos about
examples for each style.

4. Students watch a video about writing styles in the classroom and take an online quiz at home to identify which
texts belong to each style.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496351557 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is the BEST example of the ‘flipped classroom approach’ to teach about different writing styles?

1. Teacher assigns students an online exercise on classifying texts based on their writing styles and then gives them
individual feedhack.

2. Students watch a video about writing styles at home and in their next class identify which texts shared by the
teacher belong to each style.

3. Teacher delivers a lecture on writing styles over a video conference and students then watch more videos about
examples for each style.

4. Students watch a video about writing styles in the classroom and take an online quiz at home to identify which
texts belong to each style.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496351558 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT true about language?

languages scientific system
Language is a system of systems
Language is culture free

Every language has a script

el o

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496351558 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT true about language?

1. languages scientific system

2. Language is a system of systems

3. Language is culture free

4. Every language has a script
Options :
1.1
2.2
3.3
4.4

Language II

SectionId: 3649631645
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649632983
Question Shuffling Allowed : Yes

Question Id : 36496351559 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 36496351560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4



Question Number : 122 Question Id : 36496351561 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

[

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496351562 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496351563 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496351564 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496351565 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496351566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496351567 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 36496351559 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 36496351560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
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Question Number : 122 Question Id : 36496351561 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

[

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496351562 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496351563 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496351564 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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Question Number : 126 Question Id : 36496351565 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496351566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496351567 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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=
1. sfigras
3. SHIGI-hH
4. gETE

I-J

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 2

Sub-Section Id : 3649632984

Question Shuffling Allowed : Yes

Question Id : 36496351568 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 36496351569 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T F e FET i R w T o 3o 27
l. SR

EALE T

\CEEL
I E Sl

L
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Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496351570 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

vyt o ot oY & . e T T
1. Ug, =5, ust

. ¥H, =1, 8T

Options :

S P T

1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496351571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e FHET H o & AT 3 o, SR 3168 T TEnT
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2. it wET At e 5 fore arett e o
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Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496351572 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496351573 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496351574 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. TSI S o e % fom)
2. Uyt e & fom

' 4 r ~ =
3. 3UH THEHT HGA o [0
4. “TIEAT AT % TEW 5 o7

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496351575 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 36496351568 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 36496351569 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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l. SR
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Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496351570 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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1. Ug, =5, ust
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Options :
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1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496351571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e FHET H o & AT 3 o, SR 3168 T TEnT
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2. it wET At e 5 fore arett e o

ST TRt ST 2
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4, ﬁﬁwﬁ =3 9T ST T5RT T T T

TS
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496351572 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496351573 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1. [T A1 FZeRT 9T TR T 2|
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Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496351574 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496351575 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649632985

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 36496351576 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 136 Question Id : 36496351576 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 137 Question Id : 36496351577 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

[

1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 36496351577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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3.3

4.4

Question Number : 138 Question Id : 36496351578 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 138 Question Id : 36496351578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 139 Question Id : 36496351579 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 139 Question Id : 36496351579 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 140 Question Id : 36496351580 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 140 Question Id : 36496351580 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

oAt o ¥ ol e 9 Tt 9 31 ST 27
|, ferett e (31T o e Gl T g@%gmmmw
2. S ST 7T T e S et 70 T 10 o, 3 T T a7 2 a1 €
3, U SO 5 e T T T S A 7 3 T A A e
4, 3ETEE AT e T T e a1 T A e € 4 e
#

Options :
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Question Number : 141 Question Id : 36496351581 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 141 Question Id : 36496351581 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 36496351582 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 36496351582 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 143 Question Id : 36496351583 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 143 Question Id : 36496351583 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 144 Question Id : 36496351584 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 144 Question Id : 36496351584 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 145 Question Id : 36496351585 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 145 Question Id : 36496351585 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 146 Question Id : 36496351586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 146 Question Id : 36496351586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 147 Question Id : 36496351587 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 147 Question Id : 36496351587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 36496351588 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 36496351588 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 36496351589 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 36496351589 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 36496351590 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 36496351590 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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